I 7 1 7y

1 nymanei NN
201-10131

5 ®139n

7172 22pNAW Y T INR MNTI ORIPRA TN ORI .2NNW N7 M -1 012 oot N on 1o
K mino? (2) M7 MRXNT N 172 (R) 797 WA MN2N0TT on L0 oY RO 0130 ORI
ST MIRXT W 0T 1907 (3) N7 MR

MY 17 K2W NN2N0IT DR RED NAK 7Y Jwn2 NNy mmw 20 yximna noapn nnoy N1dmn
.(>1ORI® OIT XIT MMWE 1901) MPT S Twna1 NPNTYIa

A T0npTD Qv NORID AP0nn NAR VW qwnea venag pwbh onen X Wik 190n
A

TRY WM P NMN2N0T2 AN01 7wn Papn onoan R 9 J(k=0,L... ,P(X =k)=¢e ‘F

PN 72WN 2°92pna Y DUWIRT 1907 2w NIN2N0ANT NOXPND DR RXN .q=1—p mM1anona

3 MI9PW NMNanoan DR ORYD LYXIAN2 2°p0phn 2500 nriw 10000 qwna 203a1 o cpphn nhana
(CNOR1 0T X @ P Ron 190n) LNvaw 10 Twna 100> 2ppon

K nx xxn (X) .0 f(X)=0 -1, 2<x<8 ox, f(X)=K(Xx+3) : X n"n >0 NM9d¥ n°¥pIo 71n3
PB< X <5)awn(2)

NX R¥M (2) ¢ PR XX (X).0MR 0 -1, 0<x<5 ax, f(X)=cx® : X n"n 2w mo0¥ MXpns 71N
. X n"n 5w mivanan noxpd N e (3) P(X <k)=1/3-w 10 k

2
MDY PPN N ,—o< X<oo , f(X)=a|x|e™™ IYpnow 70 a NX N¥n

1 —x/1000
- >
nR R¥n (R) . f(x)= 10008 » X20
0, x<0
My 1200 -5 800 12 7°10 777 MN2N0TT DR R¥D (2) . X 2"H Hw maann noepd
-2 701 . [AlL] - [0,A] 2°p%n 53wk IR npbiad [0,1] yupa 7omRY S9pn 19182 N3 7P A 5hn
. X 5pna 7INWnT SW NIDUOXT NOXPND DR K¥A LN J0p0 PR0 YW 19N IR X

:MDYDXA MXPND o5k A7n X (Mywa) 7 »n TR

1M01 235777 952 TONIRY SIPR IDIRD NAYION TP AP NARY MTIPI NW NIRRT 1 01T oy wn Y .

. X 5Pnn 7INWRT SW NI9POXT NOXPND DR R¥A 9K MITIPI CNW 20107 0D YW MR IR X -2

DR R¥HD .Nww 1/4 quna P27 oovun MU A4 0D oy noovayn amn (Myw) 3un n TR
JOPoPN XY YIIn ARW N1N2N0T

B n10n .00 11 4%-2 nnaoy 99100 xnan 10%  naxn A anon .mimnon vty nwin n°aa
XA DWW NP AR 5% -2 naxo1 30% nxvn Coanom 7%-2 nnaxo) 60% naxn

ax (3) ?A 71011 R RITY MO2AN0AT TR ,01[0 XM AR (2) 7010 XIw MNanoaa an (R)
2C n12nn R XKW NINAN0TT TR L0010 XN

nawen .5 9Ean

k k-1 n-1
k=0,L,... ,P(Y:k):e‘ﬂq@ 3 e’ 2 _N (3) ( N j (2) M-N" (X) .1

k M +2N M +N (M +N)"

i

0, t<0
F) -t s, 0<tes OSAB Q) 32506 T24()° 148(x) 5 0456 .4
1, t>5
1 l_et/IOOO tZO
X~U|0,—| .9 0.148(2) F()= ’ X).8 1
( 2j (@) F() { 0. 0()
1
x €[0,2]

46 4 - T
o (2) o (a3) 0.061 (x) .12 e™ A1 f(X)=1,1-x2/4
0, X ¢[0,2]

10



